
 











Yi = α+β1(Xi-c)+               τIi+γ1(Xi-c)Ii+                      εi 

Yi = α+β1(Xi-c)+β2(Xi-c)2+τIi+γ1(Xi-c)Ii+γ2(Xi-c)Ii
2+      εi 

Yi = α+β1(Xi-c)+               τIi+γ1(Xi-c)Ii                        +θZi+εi

Yi = α+β1(Xi-c)+β2(Xi-c)2+τIi+γ1(Xi-c)Ii+γ2(Xi-c)Ii
2+θZi+εi









H = £10,000 H = £5,000 H = £2,000 

τ 0.023 0.019 0.021 0.020 0.014 0.014 

(0.014) (0.013) (0.013) (0.013) (0.021) (0.020) 

Characteristics       

Income specification Quadratic Quadratic Linear Linear Linear Linear 

Equation B D A C A C 

N 34,697 34,108 16,278 16,001 6,339 6,213 







H = £10,000 H = £5,000 H = £2,000 

τ 0.034** 0.030** 0.032** 0.029** 0.036* 0.033 

(0.014) (0.014) (0.013) (0.013) (0.021) (0.020) 

Characteristics       

Income specification Quadratic Quadratic Linear Linear Linear Linear 

Equation B D A C A C 

N 34,015 33,432 15,893 15,617 6,185 6,061 







H = £10,000 H = £5,000 H = £2,000

τ 0.050* 0.044** 0.013 

(0.023) (0.021) (0.035) 

Characteristics    

Income specification Quadratic Linear Linear 

Equation D C C 

N 14,312 6,713 2,569 





 


